
’’BENCH’’ KLUPA ZA VEŽBANJE SA STALKOM ZA ŠIPKU

100110



2

PODLOŠKA: (M10)

VIJAK: (M10X70) X 12

VIJAK: (M10X70) X 4

VIJAK: (M8X20) X 4

X 1 X 1

KLJUČ

PODLOŠKA: (M8) NAVRTKA: (M10)

X 28 X 4 X 16

DELOVI



3

VIJAK

VIJAK

VIJAK M10X70

VIJAK M10X70

VIJAK M10X70

VIJAK: (M10X70) X 8

PODLOŠKA: (M10) X 16 NAVRTKA: (M10) X 8

1.

DETALJAN PRIKAZ 
SKLAPANJA



4

DETALJAN PRIKAZ 
SKLAPANJA

VIJAK: (M10X70) X 4

PODLOŠKA: (M10) X 4 NAVRTKA: (M10) X 4

VIJAK:

VIJAK:

VIJAK:

VIJAK:

2.



5

DETALJAN PRIKAZ 
SKLAPANJA

VIJAK: (M10X70) X 4

PODLOŠKA: (M10) X 8 NAVRTKA: (M10) X 4

VIJAK

VIJAK

VIJAK

VIJAK

3.



6

DETALJAN PRIKAZ 
SKLAPANJA

VIJAK: (M8X20) X 4

VIJAK: (M8X20)

VIJAK: (M8X20)

PODLOŠKA: (M8) X 4

4.



7

DETALJAN PRIKAZ 
SKLAPANJA

NOSIVOST: 100 KG

NOSIVOST: 250 KG

MAKSIMALNA NOSIVOST: 250 KG



BATAJNIČKI DRUM 23, BEOGRAD, SRBIJA
WWW.GORILLASPORTS.RS


